gboogoo20000000

N26a Doooobboboooobobboood
o000 O0DODOOO (0D0BD0D)

do0oOoddoOo0odoodoDbOOo0obOO0dbOo0DbObO00oOo0oDbOOoo0DbDO0o0Oo0oDOOoo0DbDOoooDoOn
00000000 DbO00D0O00o0o00obOOo0bO00o0o00ooDoOOooDDOOo0ooDo00ooDoOooDoOOoOoDOOoOoooao
000000000000 00000D00D000O00000O000000O000 primordial scenariod 000000
000000000000 0000000000D000000000 surface pollution scenario 0 O 0O O

doooOoooooObOOo0o0oDoOoOO0o0o0ooObOo0o0o0obObOO0o0o0oDobOoOooooDoOoOooDDOoOoOoOooOoDoOoOn
0o00d0bOd0ooOo0dooOoo0nDddoDodoobOdddooDodoDoOoooDooooOooDOoooo

do0bodoOodoboooobOo0bOo0o0obObOoo0bO0o0bOO0o0ooDbOOoO0bOo0obOOo0ooDbOoOoDOoOoooDOon
000000000000 0HROODODOOOODODOO0O0OODOOO0O0OODOOOOO000D00oOooOo0oooOooon
00000000 bO0o0oOo00bDo0oobOo0obO0o0bOo00ooDoOOooDbOo0ooOoOoOooDoOOoobDOoOoooOoOoooa
ooodoooood

O000000O0oo08MgOz =0.02(00)0z=0.030000000000000000ODOO0O0O0OOM =
084Ms02=00300000000000000000000000D0O0CO0O0OO0ODOOOOO0O0 10%00
0oooobooooa



